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Ex 4. The proportion X of a city’s roads needing repair in any given year has p.d.f.

1222 — 1223 0<xz<1
flz) = .
0 otherwise
a) Graph f(x) using Wolfram Alpha

b) Find the expected proportion of roads needing repairs this year

¢) Find the SD of X
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Ex 1. The volume in bottles of ginger ale is normally distributed with a mean of
2.01 L and a SD of0.13 L. Find the probability that a bottle has a volume:

a) between 1.77 and 2.29 L

b) between 1.59 and 1.73 L

¢) less than 1.81 I

a_\ X: Vo\\M\nC (L)
P (177 €X<229)

X is v\o('fv\a.\"—a uSe =

=M m=2.0l ¢=0.3
a

2=17#-20l -) %S
0.13

HSD's a,ua,«., ‘ﬁf‘@x«\ '\'\'\t’ I 77

z = zzq *2,.°| ”YZo'SJ
0.1%

= P(J.%S czear )

2Z-0wve S Cendred of 0
£33 a exiime Valnes




(

(

{
AN
7

.—‘SY o !\\Z\{

eeeeeeeeeeeee



